e TH MR T
AN R
e . Wk i | L el P AT

KD AREATn=ha-2
1363m
1213m

150m
SAJ31-SL-120/01

[iigg i (5250 ]
BAT R

B see

E& 1

i EF

2 A — R 12:55

e Hard

9.7C / 10.1C

KOZ+ PNEIL IS
N FR
Sy FI=HNT—H
iz G (%550 ] a—24
F5k HmH kS (5 50] 2K — i
T 4= 2 s
M EERE w75 (3 50] 2 A
AET S — 3 No.
1 AH 2 A H
a— Rty Z— WA shZ [0 ] a—RtyH—
AIEH - A - ER RE AIEH - A -
AiE# - B - M FE AiE# - B -
AiE#H - C - T4 £ AiE# - C -
AiE#H - D - e EFE AiE# - D -
TR 22(21) A K — N IREfE 12:30 TR 23(21)
KA AL =8 Hard KA H i
A=K7 4=y v a iR 4.3°C / 5.4C A=K/ T 4= a2 TIR
JIEAE 25— -b EEEE
No No K4 B 4
1 2 temp692 Hik ZHEH Doing
2 1 temp706 4 B SEED

DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]

2019-01-13 / I FB DX F A X —3F
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14AH 2AKH & #H O Lv—X
BF [ BF R OBF R RA b

42.79 45.53 1:28.32 0.00
45.01 48.37 1:33.38 57.86
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1A4H 2 K H
a— Ry H— M 5Lz (5 ] a— Ry H— 7 [ 51]
@%%‘ - A - BT IRE Eﬁﬁ%‘ - A - BT IRE
AIEH - B - HH s AIEH - B - HH Fei
ISR - C - T4 £ ISR - C - 4 ke
ISR - D - e HEFE ISR - D - e HEFE
TR 22(21) 2 — R 12:30 % 23(21) 2 — R 12:55
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR 4.3°C / 5.4°C 2B —K/T 4=y aRiE 9.7°C / 10.1C
F=1010
NEAT Ag=] =N B - 1K 2A&AH & 7 1V—x
No No K4 B 4 1L L I 5 Hé? fil A b
1 5 981130 44K &0 S 37.93 4124 1:19.17 0.00
2 3 992663 M HH /N« —5 39.51 4259 1:22.10 37.38
3 4 986924 HifE FnZ A TT 4 41.67 43.84 1:25.51 80.88
4 8 986927 KK, meiE o, 41.00 4504 1:26.04 87.64
5 6 1007013 #k #jH# =, 4323 4593 1:29.16 127.45
6 7 1006561 (kB EERN - —F 45.25 48.05 1:33.30 180.26
7 9 temp633 N BREE A TT 4 48.43 49.89 1:38.32 244.30
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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M EERE w75 [Z5] 2 150m
AREBS— 3 No. SAJ31-SL-120/01
1A4H 2 K H
a— Ry H— M 5Lz (5 ] a— Ry H— 7 [ 51]
Eﬁ%% - A - BT IRE @%% - A - BT IRE
AIEH - B - HH s AIEH - B - HH Fei
ISR - C - T4 £ ISR - C - 4 ke
ISR - D - e HEFE ISR - D - e HEFE
TR 22(21) 2 — R 12:30 % 23(21) 2 — R 12:55
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR 4.3°C / 5.4°C 2B —K/T 4=y aRiE 9.7°C / 10.1C
F=1010
NEAT Ag=] =N B - 1K 2A&AH & 7 1V—x
No No K4 B 4 1L L I 5 H%E fil A b
1 10 992476 f&E =/ BASES C 37.28 39.43 1:16.71 0.00
2 16 temp631 AHIF K— A TT 4 40.61 4320 1:23.81 93.48
3 11 997065 {EH BEERE A =T 4 43.16 4462 1:27.78 14575
4 15 temp694 FHJI| # AT 47.76 51.01 1:38.77 290.45
5 17 temp634 HNiE ZhE A TT 4 48.04 53.13 1:41.17 322.05
6 14 temp708 Kfr K SEED 51.91 53.32 1:45.23 375.51
7 13 992473 g Bk AT 1:02.77 1:05.87 2:08.64 683.73
DID NOT START [1st RUN] 1
12 1007012 #k /2 o,
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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F5k HmH kS (%550 ] e 1363m
T4 = o Hi R 1213m
M EERE wmE HaE (%50 ] o0 150m
AREBS— 3 No. SAJ31-SL-120/01
1A4H 2 K H
a— Ry H— M 5Lz Kkl a— Ry H— 7 [Z5]
ISR - A - BT IRE ISR - A - BT IRE
ISR - B - HH soos ISR - B - HH s
ISR - C - T4 £ ISR - C - 4 ke
ISR - D - e HEFE ISR - D - e HEFE
TR 22(21) 2 — R 12:30 TR %K 23(21) 2 — R 12:55
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR 4.3°C / 5.4C 2B —K/T 4=y a kiR 9.7°C / 10.1C
F=1010
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 1L L I 5| Héf fil A b
1 18 1004563 P BHRACHR Xy 7 38.61 40.67 1:19.28 0.00
2 19 998892 MiH A A )T T 4512 48.82 1:33.94 186.76
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 1
20 temp637 EH ik T 2 %—
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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TIMING by SET KO



